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01 MHZ 8l 1,000 1,000 0
Odsdis@ 22 HaH| 10,0002 100K 1,000
401 Al& I & 2 08I 191,300 113,000 78,300
01 A& Bl 191,300 113,000 78,300
OL=2HE A0.4X 500,000& 554 27,500
Odsdis# A0. X 10,000& 5004 5,000
OS2 =4 CHUAIE RRES> Y
11,0002 2, 100K 23,100
OHAsdHs® At 29 1,400& 11,0004 15,400
Ofled ASHSE FH| 10,000& *3, 2004 32,000
O, 3l& ¢tHAIE EX 500,000 20K 10,000
OSSHELSAAY FEAL
9,100,000& 304 & 27,300
OME=A2E 201 & &X 70,000& 3504 24,500
OZ2IXNEHS AL 2 FHI
15,000, 0002 14! 15,000
OZ2ItXN&EHse XN=70 & &X
287,500& 404 11,500
403 MtXISHE X201 E 24,163 23,000 1,163
02 SO 2SUHHEHAHE X 2 E AL B 24,163 23,000 1,163
O3INF=AFEAAE(KAIS) RAES 18,366
—GIS A& S/N RRE=S 2,400,000& 2,400
—KAIS 2E K& 15,966, 000& 15,966
OE2H =Dk ALY 5,797
—S2gFA0I=2% S 5,797,000 5,797
HE2IZH (LR SAD) 128,853 124,962 3,891
Jl=3l 128,853 124,962 3,891
JI23l 128,853 124,962 3,891
201 L2l 68,193 66,162 2,031
01 At 22l 68,193 66, 162 2,031
ORANEN 1,831,000 »31H 56,761
O= &l 6,200
— S20Adl 8,000 x31H »252 6,200
O=SAII L Xt 5,232
—ZHE A 286,000& x1CH+12& 3,432
— SWEALD] 150,000& = 1CH»12& 1,800
202 O4dl 55,800 54,000 1,800
1T =2WHA b 55,800 54,000 1,800
O2L 0 bi 100,000& »31H »12& 37,200
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